
   

Ford Fiesta Mk8 Additional Cold Air Feed Scoop 

Fitting Instructions  

Tools needed:   

• Ratchet Set  
• 10mm Socket  
• T30 Torx  
• 4mm Allen Key  
• 5mm Allen Key   
• Hose Driver  
• Trim Tool  
• Flat-Bladed Screwdriver  

Kit Includes:   

• AIRTEC Motorsport Air Feed Scoop  
• 2x M6x16mm Socket Head bolts  
• 2x M6x16mm Button Head bolts  
• 2x M6 Nyloc Nuts  
• 2x M6 Pan Washers  
• 2x M6 Large Washers  
• 20x M5 Pan Washers  
• 10x M5 Nyloc Nuts  
• 8x M5x12mm Button Head bolts  
• 2x M5x16mm Button Head bolts  

PLEASE THOROUGHLY READ THESE INSTRUCTIONS AND MAKE SURE YOU 
ARE FAMILIAR WITH THE STEPS BEFORE CARRYING THEM OUT  

  

  

  



   

  

  

Instructions:   

1. Start by assembling the air feed scoop using two of the supplied M5x12mm Button 

Head bolts with washers and Nyloc nuts each side to secure the guides together.  

  

  

 
  

  

 
  

  

 

  

  

  

  

  
  
  
  
  
  
  
  
  
  



   

  

  

  

  

2. Now align the dividers with the holes on each end of the air feed scoop. Once they 

are in place, secure using two M5x16mm Button Head bolts with washers and Nyloc 

nuts at the front and two M5x12mm Button Head bolts with washers and Nyloc nuts 

at the rear. Make sure that they are pointing inwards, as shown.   

 

  

  

3. The final divider can now be installed on top of the air feed scoop. This will go in the 

centre of the air guide. Once in place, secure using the M5x12mm Button Head bolts 

with washers and Nyloc nuts.  

 
  

  

4. Now the air feed scoop is fully assembled you can mount it onto your car but before 

you do that you will need to remove the front bumper.  

  



   

 
 

5. First, start to remove the front bumper by undoing the six 10mm bolts (highlighted 

with blue arrows) along the top of the slam panel. Then followed by the two plastic 

clips (highlighted with orange arrows) holding the panel to the headlight brackets. 

 

  

  

 

 

 

 

 

 

 

 

 

 

 

 

6. Inside each wheel arch remove the three 10mm bolts (highlighted with blue arrows). 

This will allow you to pull the wheel arch liner forward enough to gain access to 

remove the 10mm bolt (highlighted with orange arrows). 

 

 

 
 

 

 

  
  
  
  
  
  
  
  
  
  
  
  
  
  



   

 
7 Now remove the three 10mm bolts in the front half of the undertray.  

 

 

 

 

 

 

 

 

 
8 Release the six plastic trim clips from underneath the front bumper then unplug the 

wiring harness and carefully remove the front bumper.  

 
  

9 Remove the upper plastic surround by using a trim tool on the four fixings. After 

they have been removed you can unclip the temperature sensor from the 

surround and then remove the surround. If you are not running a Stage 2 

intercooler, you will also have a plastic surround mounted to the crash bar which 

can be removed by simply levering the tabs on the back of it.  

  

 
  

 

 

  

  
  
  
  
  
  
  
  
  
  
  



   

10 Now you can fit the air feed scoop where the upper plastic surround was 

previously located. Reuse two of the plastic trim clips to secure the top of the air 

feed scoop in place. The lower air guide tabs will now secure to the intercooler 

using the supplied M6x16mm Socket Head bolts with washers and Nyloc nuts  

  

 
 

11 The air feed trunking can now be installed using the supplied jubilee clip. You can 

then either attach the trunking to your intake or oil cooler.   

 

  

12 Finally, check fitment is secure and then refit the front bumper in reverse of Steps 

5 to 7.  


